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M DHOIE DIFME D8
ol 2IEEy =0 (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Oztatelsl ZetZeld EH ¢
250,000 *6H 1,500
OFOSE AREY| B4 HX
60,0002 3004 A 1,800
0012 U =OINY AHISOIN L2ET
91,5003 *362¢ A 3,294
202 04l 2,106 2,106
01 2LHoIH 2,106 2,106
OX0SE 2 02 ZoINHY A ol
1,240,000 1,240
OF= FOSE LT ALDS FA
866,000 866
308 AHXIHMSO0IA 19,913 19,913
13 S [2S0tHet 4 A AS A 19,913 19,913
OO FRSEAILE 23|
19,913,000& 19,913
405 AtatE = 45,000 45,000
01 ML ESFSHI 45,000 45,000
OXNIU A28 S A58l &Y
1,000, 0002 *35CH 35,000
OFUSE == Us2USI| & FEI0| W
Al 10,000,000 10,000
HAAMS Bl X (EX) 10,022 10,007 15
= 10,022
201 et 3| 10,022 10,007 15
= 10,022
01 At2teltl 10,022 10,007 15
O eS| 8,022
ood ge=d 8,022,000 8,022
= 8,022
O=¢gl 2,000
ood ge=d 2,000,000& 2,000
= 2,000
IIEAHEEARH L ZH XNJF(EX) 52,216 49,490 2,726
= 52,216
201 el 43,716 40,990 2,726
= 43,716
01 At 2|l 43,716 40,990 2,726
O et==H]| 34,500
OJtEZASE dFHMel(E - H)
22,440,000 22,440
= 22,440
OJISANESE ddxicl 29
12,060,000 12,060
= 12,060
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SN RIRTIN D
Ha: A0l MAASSE QI8 ENME =
&2l 2880 EXlZel 2 HA)
K- BB SIBH) - HIRAY - of v e HIDE2
od&se EXNIE 22 A
1,500,000 1,500
02 S3=gHl 5,350 5,350 0
OZZ2s<HAl 3,350,000 3,350
OAlE2EH|=XH 2,000,000& 2,000
202 04| 882 1,260 A378
01 SLHoIH 882 1,260 N378
OEX 2| H2F 882,000 882
802 Btet= DI Et 1,000 1,000
03 JIEtEtE S S 1,000 1,000
OEFE=s I E2A 3=
1,000,000& 1,000
SZAXIHER) 165,174 165,848 N674
= 82,587
Al 82,587
101 e124d| 7,000 12,000 /5,000
= 3,500
Al 3,500
M JIZtHZ2 S E 7,000 12,000 /5,000
OHESAIXIIL AL &HE 7,000,000& 7,000
= 3,500
Al 3,500
201 er=23y| 185,374 151,048 4,326
= 77,687
Al 77,687
01 AtR2t2|HI 154,374 150,048 4,326
g =l 151,374
O1.1DIE HESAIXIL &S =
127,074,000 127,074
= 63,537
Al 63,537
O7. DI HESAIXIL 8 +==2
20,000,000 20,000
= 10,000
Al 10,000
o2 & 0|2MHE A+
2,000,000& 2,000
= 1,000
Al 1,000
OIHESAIRDIt g2 2,300,000 2,300
= 1,180
Al 1,150
o=l 3,000
OMESAIXDt H2F 3,000,000& 3,000
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AR ke NSy
Mz AQIO WARESE 9 EXMY X
el 2sXH0 EX2el EER=E)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
= 1,500
Al 1,500
2 s5=34l 1,000 1,000 0
OHESAIXIIL ZAL &HE 1,000,000 1,000
= 500
Al 500
202 04| 2,800 2,800 0
= 1,400
Al 1,400
01 =LHO LI 2,800 2,800 0
OHESAIXIIL AL &HE 2,800,000 2,800
= 1,400
Al 1,400
N e 120,112 145,850 N25,738
= 3,600
Al 116,512
INESE= RS 36,512 34,384 2,128
201 fer= 3| 33,326 32,484 842
01 Al 22| 33,36 21,158 12,168
ORI 16,000
ONEADHR| Y YIEA
16,000,000 16,000
O=gH| 6,000
OXH ge=d 8,000 x5 150! 6,000
o2 =S 11,326
OMelEE &35t AZEN RAE
20,860,000%*10% 2,086
ORSUSESRANAY S2UHEE K2+
77,000,000& *12% 9,240
202 04| 3,186 1,900 1,286
01 2L AL 3,186 1,900 1,286
OX® g2 3,186,000& 3,186
NEZe M (EX) 3,600 4,630 A1,030
= 3,600
101 @12A4H| 3,600 4,630 21,030
= 3,600
M ORIMZZ2NSE S 3,600 4,630 21,030
OX[H2te| Q12| 3,600,000& 3,600
= 3,600
KNEEZAM Hbtah AFS 20,000 20,000 0
207 AR 20,000 20,000
02 MAHHZHI 20,000 20,000
OXHZAN Hitst A 20,000
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QIR X =t

s ARIO] ARESE 93 EXHY 2X
ol ANsF2LES (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OEXOISZ2A 5002 %10,0000H 5,000
OFg2 U 5,0002 =3, 0000HK 15,000
SHEZ2 MASKH ZEHE AY 60,000 60,000
201 fer= 3| 60,000 60,000
01 At 2t 60,000 60,000
OHASXH gHets flet ANHSE=Es
= 60,000,000 60,000
SUHEE & E2EFA 2t 415,167 364,747 50,420
= 23,400
Al 391,767
DHE ZAHIE R 102,565 92,535 10,030
201 Ler23| 100,360 90,330 10,030
01 At2teltl 100,360 10,800 89,560
O eS| 6,550
0ZAHE(E) E2E 8X 7Y
650,000& 650
OBHFE(CHEH) 226 23 7Y
1,900,000 1,900
OBUFE(CHEH) ZetLelH EH 7
4,000,000 4,000
O=3=+4 1,400
OSRYFLIRE 2Y4g
70,0002 * 102 *22] 1,400
o=zl 3,200
ODAOIE BAWE YREX
3,200,000 3,200
O2c|ESH] 89,210
OXCIEE & RNSUHEZSSAIAE HW
=2 7,700,000 7,700
OXICIBEAIAHE SN SR
77,380,000& 77,380
O=ISUEFESEAIAHE SN RXE+
4,130,000 4,130
202 04| 2,205 2,205
01 =LHO LI 2,205 2,205
OS2 E FRFA SR ZA
10,0002 x4& #4525 12 2,205
C2H FAAMY 199,602 168,885 40,717
201 er23| 66,680 67,380 AT700
01 AtR2t2|HI 8,000 8,700 AT700
O+ 6,000
OZFATE OHJAILS AE XAl 22X
2,500,000 2,500
OFA43E 2UAIEE 223 7¢
3,500,000& 3,500
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&Pl ZHEE @ E2HF=A 2L (EEEE))
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O=g| 2,000
OCZEFA BOAIY Fd
2,000,000 2,000
02 S3=gHl 58,680 58,680 0
OS2 AA 1,380
OoXgether MIIe=a 15,0002« 12& 180
OADIE RIIFATDAIAL(DHIY) S
100,000 x1CH* 12 1,200
OAlIEZHI= X 57,300
OC-ZEH S LH=EAL A
26,000,000 26,000
OASHS T & AISF4E HTA A
31,300,000& 31,300
202 04t 2,840 2,840
01 =LHOHI 2,840 2,840
FAFE HUAES(ME AR S) XX
At 2,840,000& 2,840
301 22N = 2,000 2,000
14 JIEt2 8= 2,000 2,000
O=2dE AL 8 JIZEI2 & 7Y
10,0002 20021 2,000
308 AtXIEMSOIH 96,482 73,465 23,017
18 SIS0t oA AS A 96,482 73,465 23,017
OF2ZE 2ALIANAH(KAIS) RAIZ2| At
55,377,000& 55,377
OFAFE JI2 RA2el At
41,105,000 41,106
401 Al HIZL S 0HYI 28,000 13,200 14,800
01 Al&HI 28,000 13,200 14,800
OFAZE QHUHAIZ S EX(2a 3, e
UEE S) A 10,000,000 10,000
O A0, Ot HLE ?Iet LONSEHE
Hso 4% 18,000,000 18,000
405 AtatE = 3,600 3,600
01 Tt =S F=SH 3,600 3,600
OADEE KAIS == E2] WX
3,600,000 3,600
AV CHUHAIEE |2l L ESAE(EX) 105,000 50,000 55,000
= 21,000
Al 84,000
401 A& HIX R0 105,000 50,000 55,000
= 21,000
Al 84,000
01 A28l 105,000 50,000 55,000
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s ARIO] ARESE 93 EXHY 2X
&Pl ZHEE @ E2HF=A 2L (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
03438 AUNEE Sazel & S5
& 105,000,000 105,000
= 21,000
Al 84,000
et QRS 2OINEHSE ARER M (EX) 4,000 6,667 N2,667
== 1,200
Al 2,800
401 AIEHIZ SR 0HYI 4,000 6,667 A2,667
[ 1,200
Al 2,800
01 Al&HI 4,000 6,667 N2,667
O=JHN 88 A7 X At
4,000,000& 4,000
= 1,200
Al 2,800
et ISR 2DVKNEHHSE S2LIAG (EX) 4,000 6,660 A2,660
s 1,200
Al 2,800
201 2= 4,000 6,660 A2,660
[ 1,200
Al 2,800
02 S5=24g4l 4,000 6,660 N2,660
O=JHE8 S8 JX2ce| At
4,000,000 4,000
= 1,200
Al 2,800
KIETHZEAALS 1,796,788 1,725,089 71,699
= 657,491
Al 1,139,297
KETHZEAL AFS 1,139,297 1,111,928 27,369
201 et 3| 131,129 108,760 22,369
01 At22t2l] 113,855 91,486 22,369
Ot~ 96,875
OXIETHEAL HRFH 17,000,000& 17,000
OXNHMEA 8= 28I =&
22,500,000 22,500
OTZAIHEEE &HH| =&
40,000,000 40,000
oxd= 35 e ===
5,000,000& 5,000
OFHII=8 ==
25,0002 *450& *110f% 12,375
O=3=+4 4,620
OXNAEMZEAIREE &G
70,0002 x5 +63 2,100
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QIR X =t

s ARIO] ARESE 93 EXHY 2X
(= BPNESY, ERVA PN g2 (CHe) &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OZAZITIAT BAwY
70,0002 x6 2 +63] 2,520
Oll=H| 4,500
ONEMEA SUHT XY 45l S
300,000 %10 3,000
ONEMEA SLHT Xey3|
150,000& «10& 1,500
O=¢gl 7,860
OXIETHZAL SR 5,340,000 5,340
OHIEE £X 2% ALEA
2,520,000 2,520
02 S5=2g4l 17,274 17,274 0
OSE2SZHMA 17,274
OEXNA~=A SAl S)|I2H#
16,434,0002 16,434
OXNHTHZAHEE R 26 2=
70,0003 *1CH* 122 840
202 04l 8,168 3,168 5,000
01 SLHoIH 8,168 3,168 5,000
OXHMZAL SN S SHEZA
1,800,000 1,800
OUXTEMN BHED S HIEA
6,368,000 6,368
301 22N 1,000,000 1,000,000
14 JIEt2 8= 1,000,000 1,000,000
OXEMEA =82 NS
1,000,000,000& 1,000,000
KIETHEAAIE =R (EX) 657,491 593,052 64,439
= 657,491
201 2= 43,608 38,228 5,380
= 43,608
01 AtR2t2|HI 33,608 38,228 A4,620
OXEHEAMNZE 13,608
OXNHI=8 =&+=2
13,608,000 13,608
= 13,608
OXHETHZEA AIHEE S 2&2tal
20,000,0002 20,000
= 20,000
02 S3=gHl 10,000 0 10,000
OS2 A 10,000,000& 10,000
= 10,000
403 MR HHMSAHE01H 613,883 554,824 59,089
= 613,883
02 SIS0t =S A A 613,883 554,824 59,089




2H: PRAXED
M AlDIo HAAESE 98t EXNHE XX
el NIETHZARAE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OXNETNEA 2 48
613,883,000& 613,883
= 613,883
AH2IB3HI(LAXFHL) 43,740 42,540 1,200
Jl23HI(& X D) 43,740 42,540 1,200
Jl2ZHI(2& XA D) 43,740 42,540 1,200
202 048l 38,400 37,200 1,200
01 2L AL 38,400 37,200 1,200
OSEEZ 0| 100,000 *32E 122 38,400
203 =] 5,340 5,340
M FA2HARFAI 5,340 5,340
OLJAX =1t 445,000 <123 5,340
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